

Hublic Service Commission

CAPITAL CIRCLE OFFICE CENTER • 2540 SHUMARD OAK BOULEVARD TALLAHASSEE, FLORIDA 32399-0850

-M-E-M-O-R-A-N-D-U-M-

DATE:

October 11, 2013

TO:

Office of Commission Clerk (Cole)

FROM:

RE:

Docket No. 120036-GU - Joint petition for approval of Gas Reliability

Infrastructure Program (GRIP) by Florida Public Utilities Company and the

Florida Division of Chesapeake Utilities Corporation.

AGENDA: 10/24/13 – Regular Agenda – Tariff Filing – Interested Persons May Participate

COMMISSIONERS ASSIGNED: All Commissioners

PREHEARING OFFICER:

Administrative

CRITICAL DATES:

60-Day Suspension Date: 10/30/13

SPECIAL INSTRUCTIONS:

None

FILE NAME AND LOCATION:

S:\PSC\ECO\WP\120036.RCM.DOC

Case Background

On August 30, 2013, Florida Public Utilities Company (FPUC) and the Florida Division of Chesapeake Utilities Corporation (Chesapeake) filed a petition seeking approval of 2014 Gas Reliability Infrastructure Program (GRIP) surcharges for their cast iron and bare steel pipe replacement programs. The GRIP program was approved in Order No. PSC-12-0490-TRF-GU¹ to recover the cost of accelerated replacement of cast iron and bare steel distribution mains and services through a surcharge on customers' bills. According to quarterly reports FPUC and Chesapeake filed on the progress of the replacement programs, for the period August 2012

Order No. PSC-12-0490-TRF-GU, issued September 24, 2012, in Docket No. 120036-GU, In re: Joint petition for approval of Gas Reliability Infrastructure Program (GRIP) by Florida Public Utilities Company and the Florida Division of Chesapeake Utilities Corporation.

through June 2013, FPUC replaced 36 miles of pipes, and Chesapeake replaced 22 miles of pipes.

The order addressed the reliability and safety rationale for pipeline replacement, the scope of the program, similar actions in other states, and the procedure for annually setting the GRIP surcharge to recover the costs of the program. The procedure requires an annual filing with three components:

- A final true-up showing the actual replacement costs, actual surcharge revenues, and over- or under-recovery amount for the 12-month historical period from January 1 through December 31 of the year prior to FPUC's/Chesapeake's annual GRIP petition.
- An actual/estimated true-up showing seven months of actual and five months of projected replacement costs, surcharge revenues, and over- or under-recovery amount.
- 3. A revenue requirement projection showing 12 months of projected GRIP revenue requirement for the period beginning January 1 following FPUC's/Chesapeake's annual GRIP petition filing.

The Commission concluded the order by stating:

Replacement of bare steel pipelines is in the public interest to improve the safety of Florida's natural gas infrastructure, thereby reducing the risk to life and property. Given the length of time these pipelines have been installed and the leak history due to corrosion, we find that it is appropriate to approve the proposed replacement program. Without the GRIP surcharge, it is reasonable to expect that FPUC/Chesapeake will have to file for more frequent base rate proceedings to recover the expenses of an accelerated replacement program. The annual filings will provide us with the oversight to ensure that projected expenses are trued-up and only actual costs are recovered. FPUC's/Chesapeake's GRIP and its associated surcharges will terminate when all replacements have been made and the revenue requirement has been rolled into rate base.

Order No. PSC-12-0490-TRF-GU, at p. 19.

The Commission has jurisdiction over this matter pursuant to Sections 366.03, 366.04, 366.05, and 366.06, Florida Statutes (F.S.).

Discussion of Issues

<u>Issue 1</u>: Should the Commission approve FPUC's and Chesapeake's proposed GRIP surcharge factors for 2014?

Recommendation: Yes. FPUC's and Chesapeake's calculations of the GRIP surcharge factors are reasonable and accurate. (Garl)

Staff Analysis:

FPUC'S GRIP SURCHARGE FACTORS FOR 2014

FPUC has had a bare steel replacement and recovery program in place since 2005. In FPUC's 2008 rate case, the Commission approved an annual expense of \$747,727 associated with the program, to be included in base rates. The amount included in base rates is excluded from the GRIP surcharge calculation.

The GRIP surcharges have been in effect since January 2013. FPUC's calculations for the 2014 revenue requirement and surcharges include a final true-up amount for 2012, an actual/estimated true-up for 2013, and projected costs for 2014. The order approving the GRIP program stated that both FPUC and Chesapeake shall include a final true-up for the period August 14, 2012 through December 31, 2012.

Final 2012 and Actual/Estimated 2013 true-up. The final 2012 true-up is an over-recovery of \$243,238. To calculate the 2013 true-up, FPUC calculated the difference between the revenue requirement in base rates, \$747,727, and the 2013 actual (January through July)/estimated (August through December) revenue requirement for 2013, \$747,392, producing a surplus of \$335. The actual/estimated revenue requirement includes the return on investment, depreciation expense, customer notification, and ad valorem taxes associated with the investment. FPUC reported actual/estimated revenues for 2013 of \$259,154. Adding the revenue requirements surplus, and the interest provision to the revenues, showed the over-recovery for 2013 is \$259,794. After including the over-recovery of 2012, the amount over-recovered applicable to the 2014 revenue requirement is \$503,032 as shown below:

Annual Revenue Requirement in Base Rates	\$747,727
Less 2013 GRIP Revenue Requirement	\$747,392
Net Revenue Requirement surplus	\$335
2013 GRIP Revenues	\$259,154
Over-Recovery	\$259,489
Interest Provision	\$305
2013 Total Over-Recovery	\$259,794
2012 Over-Recovery	\$243,238
Total 2012 and 2013 Over-Recovery	\$503,032

<u>Projected 2014 costs.</u> FPUC projects to spend \$15,557,547 for the replacement of cast iron/bare steel infrastructure in 2014. The return on investment, depreciation, customer notification, and ad valorem tax expenses associated with that investment are \$1,891,864.

Subtracting the revenue requirement for bare steel replacement investment included in base rates provides the 2014 revenue requirement of \$1,144,137. Finally, the over-recovery from 2012 and 2013, \$503,032, is subtracted to provide the total 2014 revenue requirement of \$641,105.

2014 Projected Expenditures	\$15,557,547
Return on Investment	\$1,407,269
Depreciation Expense	\$272,128
Tax and Customer Notice Expenses	\$212,468
Revenue Requirement	\$1,891,864
Less Revenue Requirement in Base Rates	(\$747,272)
2014 Revenue Requirement	\$1,144,137
Less Prior Period Over-Recovery	(\$503,032)
Total 2014 Revenue Requirement	\$641,105

The calculation of the GRIP surcharges by rate class is shown in Attachment 1 to the recommendation. As established in the order approving the GRIP, the total 2014 revenue requirement is allocated to the rate classes using the same methodology that was used for the allocation of mains and services in the cost of service study used in FPUCs' most recent rate case. After calculating the percentage of total plant costs attributed to each rate class, the respective percentages were multiplied by the 2014 revenue requirement, resulting in the revenue requirement by rate class. Dividing each rate class' revenue requirement by projected therm sales provides the GRIP surcharge for each rate class. The GRIP surcharge for residential customers is \$0.01598 per therm. The monthly bill impact for a residential customer who uses 20 therms is \$0.32.

CHESAPEAKE'S GRIP SURCHARGE FACTORS FOR 2014

Chesapeake does not have any replacement recovery amount embedded in base rates and has in the past replaced its infrastructure as conditions warranted.

<u>Final 2012 and Actual/Estimated 2013 true-up.</u> The final 2012 true-up is an under-recovery of \$16,886. To calculate the 2013 true-up, Chesapeake provided actual revenues received (January through July) and estimated revenues (August through December) for 2013 of \$594,014. The actual/estimated revenue requirement for 2013 is \$378,913 and the over-recovery for 2013 is \$215,161. After including the under-recovery of 2012, the amount over-recovered applicable to the 2014 revenue requirement is \$198,275 as shown below:

2013 GRIP Revenues	\$594,014
2013 GRIP Revenue Requirement	\$378,913
Over-Recovery	\$215,101
Interest Provision	\$60
2013 Total Over-Recovery	\$215,161
2012 Under-Recovery	(\$16,886)
Total 2012 and 2013 Over-Recovery	\$198,275

<u>Projected 2014 costs</u>. Chesapeake projects to spend \$6,837,772 in 2014. The return on that amount plus investment expenses are \$802,747. Finally, the over-recovery from 2012 and 2013, \$198,275, is subtracted to provide the total 2014 revenue requirement of \$604,472.

2014 Projected Expenditures	\$6,837,772
Return on Investment	\$531,798
Depreciation Expense	\$180,909
Tax and Customer Notice Expenses	\$90,040
2014 Revenue Requirement	\$802,747
Less Prior Period Over-Recovery	(\$198,275)
Total 2014 Revenue Requirement	\$604,472

The calculation of Chesapeake's GRIP surcharges by rate class is shown in Attachment 2 to the recommendation. The GRIP surcharge for residential customers on the FTS-1 rate is \$0.02198 per therm. The monthly bill impact for a residential customer who uses 20 therms is \$0.44.

CONCLUSION

Staff believes both FPUC and Chesapeake complied with the Commission's order in filing for an annual adjustment of the GRIP cost recovery factors. The data and results presented by both companies were reasonable and accurately calculated. Staff recommends approval of FPUC's and Chesapeake's proposed GRIP cost recovery factors for 2014.

Issue 2: Should this docket be closed?

Recommendation: Yes. If Issue 1 is approved, the tariffs should become effective on January 1, 2014. If a protest is filed within 21 days of the issuance of the order, the tariffs should remain in effect, with any revenues held subject to refund, pending resolution of the protest. If no timely protest is filed, this docket should be closed upon the issuance of a consummating order. (Lawson)

<u>Staff Analysis</u>: If Issue 1 is approved, the tariffs should become effective on January 1, 2014. If a protest is filed within 21 days of the issuance of the order, the tariffs should remain in effect, with any revenues held subject to refund, pending resolution of the protest. If no timely protest is filed, this docket should be closed upon the issuance of a consummating order.

Attachment 1

Florida Public Utilities Company

Gas Reliability Infrastructure Program (GRIP)
Projection of Qualified Mains & Services Revenue Requirements
Surcharge Calculation - January 1, 2014 through December 31, 2014
Per Therm Rate

							DOLLARS		GRIP
RATE SCHEDULE	2014 THERMS	SERVICES COS %	MAINS COS %	SERVICES REV REQ	MAINS REV REQ	GRIP REV REQ	PER THERM	TAX FACTOR	FACTORS PER THERM
RESIDENTIAL	12,645,457	58.00%	22.00%	\$96,678	\$104,372	\$201,050	\$0.01590	1.00503	\$0.01598
COMMERCIAL SMALL (General Service & GS Transportation)	9,524,606	17.00%	23.00%	\$28,337	\$109,116	\$137,453	\$0.01443	1.00503	\$0.01450
COMM. LRG VOLUME (Large Vol & LV Transportation)	39,961,354	25.00%	46.00%	\$41,672	\$218,232	\$259,904	\$0.00650	1.00503	\$0,00654
INTERRUPTIBLE SERVICE	6,268,713	0.00%	8.00%	\$0	\$37,953	\$37,953	\$0.00605	1.00503	\$0.00608
(Int Service & IS Transportation) GENERAL LIGHTING SERVICE	261,138	0.00%	1.00%	\$0	\$4,744	\$4,744	\$0.01817	1.00503	\$0.01826
TOTAL	68,661,268	100.00%	100.00%	\$166,687	\$474,418	\$641,105			

Attachment 2

	r iorida I		Chesapeak y Infrastructure		Secretary and the second	oratio	on						
	Projectio		Mains & Serv										
			January 1, 2014										
	Dureninge		Per Therm/Bill		emeer	51, 201							
RATE	2014	2011	050/4050	MAINO	٥٥٥	1050		MAING	GRIP	DOLLARS	EXPANCION	-	GRIP
CLASS	BILLS	2014 THERMS	SERVICES COS %	MAINS COS %		VICES V REQ	-	MAINS EV REQ	REV REQ	PER THERM	EXPANSION FACTOR		ACTORS R THERM
CLASS	DILLO	THERWS	COS 76	COS 76	KE	VILLO	Į.	EVICE	KEV KEQ	THERW	FACTOR	FL	IN INLINIV
FTS-A	20,387	134,374	14.34%	0.951%	\$	3,467	\$	5,519	\$8,986	\$0.06687	1.00503	\$	0.06721
FTS-B	26,116	293,228	9.74%	1.142%	\$	2,355	\$	6,627	\$8,982	\$0.03063	1.00503	\$	0.03079
FTS-1	110,179	1,925,425	33.48%	5.861%	\$	8,095	\$	34,011	\$42,106	\$0.02187	1.00503	\$	0.02198
FTS-2	10,450	626,057	12.69%	1.611%	\$	3,068	\$	9,349	\$12,417	\$0.01983	1.00503	\$	0.01993
FTS-2.1	7,183	914,218	7.83%	3.193%	\$	1,893	\$	18,529	\$20,422	\$0.02234	1.00503	\$	0.02245
FTS-3	2,748	983,501	3.93%	1.567%	\$	950	\$	9,093	\$10,043	\$0.01021	1.00503	\$	0.01026
FTS-3.1	3,471	2,041,905	3.91%	4.294%	\$	945	\$	24,918	\$25,863	\$0.01267	1.00503	\$	0.01273
FTS-4		2,077,327	4.37%	6.162%	\$	1,057	\$	35,758	\$36,815	\$0.01772	1.00503	\$	0.01781
FTS-5		984,132	1.24%	2.570%	\$	300	\$	14,914	\$15,214	\$0.01546	1.00503	\$	0.01554
FTS-6		2,000,849	1.25%	2.750%	\$	302	\$	15,958	\$16,260	\$0.00813	1.00503	\$	0.00817
FTS-7		2,579,028	2.20%	7.615%	\$	532	\$	44,189	\$44,721	\$0.01734	1.00503	\$	0.01743
TS-8		6,183,343	1.62%	10.708%	\$	392	\$	62,138	\$62,530	\$0.01011	1.00503	\$	0.01016
TS-9		3,264,189	1.48%	15.171%	\$	358	\$	88,036	\$88,394	\$0.02708	1.00503	\$	0.02722
TS-10		2,754,662	0.45%	6.539%	\$	109	\$	37,945	\$38,054	\$0.01381	1.00503	\$	0.01388
TS-11		7,637,337	0.61%	13.551%	\$	147	\$	78,636	\$78,783	\$0.01032	1.00503	\$	0.01037
TS-12		5,348,074	0.47%	16.315%	\$	114	\$	94,675	\$94,789	\$0.01772	1.00503	\$	0.01781
TS-13			0.39%	0.000%	\$		\$		\$0	N/A		N/	A
OTAL	180,534	39,747,649	100.00%	100.000%	\$	24 178	\$	580,293	\$ 604,379				